MATHS

BOOKS - FULL MARKS MATHS (TAMIL
ENGLISH)

SAMPLE PAPER -4

1. Let f and g be two functions given by

f= {(Oa 1)7 (2v 0)7 (37 - 4)) (47 2)7 (5a 7)}


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_myoJ0KF2Eq60

g(z) = 1(0,2), (1,0), (2,4), ( = 4,2), (7, 0)
then the range of fogis .

A.{0,2,3,4,5}

B.{—4,1,0,2,7}

C.{1,2,3,4,5}

D. {0, 1, 2}

Answer: A::B

° Watch Video Solution



https://dl.doubtnut.com/l/_myoJ0KF2Eq60

2. An A.P. consists of 31 terms. If its 16th terms is m,

then the sum of all the terms of this A.P. is

A.16m

B.62m

C.31Tm

31
D.—m

Answer: A::C

° Watch Video Solution



https://dl.doubtnut.com/l/_yWGc23UAwsQC

3. The value of

(1P+2°+3°4+...+15°) = (1+2+3+...+15)

A. 14400
B. 14200
C. 14280

D. 14520

Answer: A::B::D

° Watch Video Solution



https://dl.doubtnut.com/l/_yUHusmNBubGi
https://dl.doubtnut.com/l/_cbCb8Wtbt8pE

4. Which of the following should be added to make
z* + 64 a perfect square.

A. 4z”

B. 162°

C. 822

D. — 8z2.

Answer: A::B

° Watch Video Solution



https://dl.doubtnut.com/l/_cbCb8Wtbt8pE

5. The number of points of intersection of the

quadratic polynomial z* + 4z + 4 with the X axis

B.1
C.Oor1

D. 2

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_tb6gDgMEfn6m
https://dl.doubtnut.com/l/_NmSM4WaGmKXQ

6. In the adjacent figure

/BAC = 90° and AD 1 BC then

A.BD.CD = BC?

B.AB. AC = BC*

C.BD.CD = AD?

D. AB. AC = AD?

Answer: A::B::C::D


https://dl.doubtnut.com/l/_NmSM4WaGmKXQ

o Watch Video Solution

7.1f (5,7),(3,p) and (6,6) are colinear, then the value

B.6

C.9

D. 12

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_NmSM4WaGmKXQ
https://dl.doubtnut.com/l/_LQ3gRy3DsFHj

8 (1+ tan6f + sech)(1+ cotf — cosecld) s

equal to

A.O
B.1

C.2

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_LQ3gRy3DsFHj
https://dl.doubtnut.com/l/_twD990Fmj8hb

9. The total surface area of a cylinder whose radius

1
is 3 of its height is .............

9rrh?
A.

3 sq.units

B. 247h?sq.units

8mh?2
9

56mh?
9

sq.units

sg.units

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_t2T5qUCBOBvJ

10. The mean of 100 observations is 40 and their

standard deviation is 3. The sum of all observation

A. 40000

B. 160900

C. 160000

D. 30000

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_O3CPrTXhHTMg
https://dl.doubtnut.com/l/_nrsGG76GxxDX

1. The probability a red marble selected at
random from a jar containing p red, q blue and r

green marbles is

A. q
p+q—+r

B p
"pt+qg+r

P+ q
"p+qg+r
p+r
"p+qg+r

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_nrsGG76GxxDX

12. If there are 28 relation from a set
A =1{2,4,6,8} to a set B, then the number of
elements in B is ...

A7

B. 14

C.5

D.4

Answer: A::D

° Watch Video Solution



https://dl.doubtnut.com/l/_gtrn4jjL4thV
https://dl.doubtnut.com/l/_J9CyQbRAYtjQ

a4

13. If aq, ay, as.......are in AP. such that
ar

then the 13" term of the AP is ...
A 3
"2
B.0
C.12a1

D.14a1

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_J9CyQbRAYtjQ

14. The X-intercept of the line 2z — 3y +5=20is

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_A54SXsxc7VYb

1. A function f is defined by f(z) = 3 — 2z. Find x

such that f(z?) = (f(z))*.

° Watch Video Solution

2. If f(z)=2>—-1,g(z) =z —2 find a, if

gof(a)=1.

o Watch Video Solution

3. Find the number of integer solutions of 3z = 1

(mod 15).


https://dl.doubtnut.com/l/_p5UR8LOVYU5z
https://dl.doubtnut.com/l/_DhTwKZzV19T9
https://dl.doubtnut.com/l/_yD5pmpjDdwPj

o Watch Video Solution

4. Find the rational form of the number 0.123.

° Watch Video Solution

5. Find the GCD for each pair of the following
polynomials
12(z* — 2°), 8(z* — 3z® + 22%)whose LCM s

24%(z — 1)(z — 2)

o Watch Video Solution



https://dl.doubtnut.com/l/_yD5pmpjDdwPj
https://dl.doubtnut.com/l/_GiYCMCXpx0AU
https://dl.doubtnut.com/l/_9cGc3GM2mhJY
https://dl.doubtnut.com/l/_8OiykRtA2b8r

6. Find the square root of the following

polynomials by division method

z* — 1223 + 4222 — 362 + 9

o Watch Video Solution

7. Write each of the following expressions in terms

of a + 8 and ap.

a+3 [B+3
_|_
I5} o

o Watch Video Solution



https://dl.doubtnut.com/l/_8OiykRtA2b8r
https://dl.doubtnut.com/l/_Q4gVH7cm2Yql

8 |In the given diagram show that

A PST- A PQR.

N

S f——o — =0

S
'I[ :

° Watch Video Solution

9. Find the value of "a" for which the given points

(2,3),(4,a) and (6, — 3) are collinear.

| a|ll,L,L|l!,l,, o~ _1__8n°___


https://dl.doubtnut.com/l/_LOtJYgsTwJPz
https://dl.doubtnut.com/l/_8TCSWxw0plfb

it ™ vvaldn viGeo S50IULion ]

10. The horizontal distance between two building
is 70m. The angle of depression of the top of the
first building when seen from the top of the
second building is 45°. If the height of the second
building is 120 m, find the height of the first

building.

° Watch Video Solution

1. The radius and height of a cylinder are in the

ratio 5 : 7 and its curved surface area is 5500 sq.


https://dl.doubtnut.com/l/_8TCSWxw0plfb
https://dl.doubtnut.com/l/_WQiEYlmI631U
https://dl.doubtnut.com/l/_3TKPCBPmei9z

cm. Find its radius and height.

° Watch Video Solution

12. A number is selected at random from integers 1
to 100. Find the probability that it is not a perfect

cube.

° Watch Video Solution

13. Find the value of k if

13 +22 403 1., 1k =2025

o Watch Video Solution



https://dl.doubtnut.com/l/_3TKPCBPmei9z
https://dl.doubtnut.com/l/_TAWjsZt9IcXI
https://dl.doubtnut.com/l/_3a4kva8yqddt

1. Let A= The set of all natural numbers less than 8,
B=The set of all prime numbers less than 8, C= The

set of even prime number. Verify that

A x (B—-C)= (A x B) — (AtimeC)

o Watch Video Solution

2. Consider the function f(z), g(x), h(x) as given

below. Show that ( fog)oh = fo(goh) in each case.


https://dl.doubtnut.com/l/_3a4kva8yqddt
https://dl.doubtnut.com/l/_tJyQ4mPyVTLJ
https://dl.doubtnut.com/l/_nGTC0lLhppiX

f(z) =2 —4,9(z) = 2* and h(z) =3z — 5

° Watch Video Solution

3. In an. AP, sum of four consecutive terms is 28
and their sum of their squares is 276. Find the four

numbers.

° Watch Video Solution

4.If a, b, c are three consecutive terms of an A.P.

and x, y, z are three consecutive terms of a G.P.

b—c

then prove that 2° ¢ x y* % x 207 =1


https://dl.doubtnut.com/l/_nGTC0lLhppiX
https://dl.doubtnut.com/l/_noELMfVmCHiL
https://dl.doubtnut.com/l/_xlFmoy6es9GF

o Watch Video Solution

5.There are 12 pieces of five, ten and twenty rupee
currrencies whose total value is ¥105. When first 2
sorts are interchanged in their numbers its value
will be increased by ¥20. Find the number of

currencies in each sort.

o Watch Video Solution

6. Find the square root of the expression

422 20z 30y 9y 2z 3y
-+ +13 — +— - +5— —
y Yy Z x (7] T



https://dl.doubtnut.com/l/_xlFmoy6es9GF
https://dl.doubtnut.com/l/_kxjeXJ0AQmeI
https://dl.doubtnut.com/l/_qcLvEhaCIwZo

° Watch Video Solution

7 If A o1 h that
. =l 1 5 show a

A2 —B5A+ 7, =0

o Watch Video Solution

8. State and prove Thales theorem
Statement

A straight line drawn parallel to a side of triangle


https://dl.doubtnut.com/l/_qcLvEhaCIwZo
https://dl.doubtnut.com/l/_blDwvWFkVqPI
https://dl.doubtnut.com/l/_4OKUA6a608Eu

intersecting the other two sides , divides the sides

in the same ratio.

° Watch Video Solution

9.Find the value of k, if the area of a quadrilateral

Is 28 sg.units,  whose vertices are

(_47 _2)7(_37 k)7(3’ _2) and (273)

° Watch Video Solution

10. A bird is sitting on the top of a 80 m high tree.

From a point on the ground, the angle of elevation


https://dl.doubtnut.com/l/_4OKUA6a608Eu
https://dl.doubtnut.com/l/_stCTpcTRVAw6
https://dl.doubtnut.com/l/_xolHReuzIY4z

of the bird is 45°. The bird flies away horizontallly
in such away that it remained at a constant height

from the ground. After 2 seconds, the angle

o Watch Video Solution

11. The total marks scored by two students Sathya
and Vidhya in 5 subjects are 460 and 480 with
standard deviation 4.6 and 2.4 respectively. Who is

more consistent in performance ?

° Watch Video Solution



https://dl.doubtnut.com/l/_xolHReuzIY4z
https://dl.doubtnut.com/l/_oJxraW6vX4dZ

12. The perimeters of the ends of frustum of a
cone are 207.24 cm and 169.56cm. If the height of
the frustum be 8cm. Find the whole surface area of

the frustum. [Use m = 3.14].

o Watch Video Solution



https://dl.doubtnut.com/l/_9xl3Bg8Gqd7e

13. A jar contains 54 marbles each of which is blue,
green or white. The probability of selecting a blue

marbles at random from the jar is 3 and the

probability of selecting a green marble at random

4
is 9 How many white marbles does the jar

contain ?

o Watch Video Solution

14. One - fourth of a herd of camels was seen in
the forest. Twice the square root of the herd had

gone to mountain and the remaining 15 camels


https://dl.doubtnut.com/l/_mg9RwRQc1xNj
https://dl.doubtnut.com/l/_smiNtMMPLXgy

were seen on the bank of a river. Find the total

number of camels.

° Watch Video Solution

1. Draw the graph of y = 2% + 3z + 2 and use it

tosolve 2 + 2z + 1 = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_smiNtMMPLXgy
https://dl.doubtnut.com/l/_2Mi0ElhRkQFW

